

#Thailand: Shopping is GREAT Britain Contest: Terms and

Conditions, Prizes and Participating Stores

#Thailand: Shopping is GREAT Britain Contest: 3 – 29 March 2015 **TERMS AND CONDITIONS**

1. Eligibility

- 1.1 The Shopping is GREAT Britain Contest (hereinafter referred to as the "Contest") is organised by the British Embassy Bangkok (here in after referred to as the "Organiser").
- 1.2 The Contest is open to all people residing in Thailand who spend every THB 1,500.00 in a single receipt on British products in a Shopping is GREAT Britain Contest participating store (hereinafter referred to as "the Participants").
- 1.3 The Shopping is GREAT Britain Contest participating retailers are:

1. Accessorize

2. Boots Retail (Thailand)

3. British Airways

4. Burton Menswear London

5. Butterfly Twists

6. Cath Kidston

7. Clarks

8. Crabtree & Evelyn

9. Cullinan

10. DAKS

11. Dorothy Perkins

12. F-Troupe

13. FitFlop

14. Fitness First

15. Fred Perry

16. Harrods

17. Heathcote & ivory

18. Illamasqua

19. Jo Malone

20. John Langford

21. Karen Millen

22. Kurt Geiger

23. Landmark Hotel

24. Lee Cooper

25. LSA

26. Manuka Doctor

27. Marks & Spencer

28. Miss Selfridge

29. Mothercare

30. Paul's Boutique

31. Scholl

32. The Body Shop

33. Topshop

34. Topman

35. Truefitt & Hill

36. Wallis

1.4 The Grand Prize Sponsors are: British Airways (2 x return Bangkok-London World Traveller economy flights), The Landmark London (3 x hotel nights in Lancaster London Hotel), Fitness First (12 months complimentary membership) and Topshop&Topman (£350 shopping vouchers with personal shopper service).



- 1.5 Terms and conditions for British Airways tickets
- 1.5.1 British Airways tickets are valid for return travel in World Traveller (Economy Class) between Bangkok and London.
- 1.5.2 Both passengers must travel together.
- 1.5.3 Booking must be issued by 30th June 2015 by contacting Ms. Yayada Kasemnimitporn (yayada.kasemnimitporn@ba.com, telephone no. 66+ (0) 2 784 8128). Travel must commence by 31st August 2015. Otherwise, they will be deemed as forfeited. We regret that no extension of date of validity is permitted.
- 1.5.4 Tickets are subject to availability and prize winners are encouraged to book as far ahead as possible to secure their desired dates and allow British Airways at least 15 working days to process the travel request. The ticket is on space availability basis. Flights booking of prize tickets are made using special booking class code. If seats are not available in this special booking class, an alternative flight must be sought (even though seats may be available for commercial tickets). Please note that there may be some periods when travel embargoes apply. Winners are encouraged to check with British Airways reservation team.
- 1.5.5 Air tickets prize is reserved for those residents in Thailand only.
- 1.5.6 Return air ticket prize is for British Airways route from Bangkok to London only, excluding costs related meals, passport issuance, visas or other passenger fees.
- 1.5.7 The organiser reserves the rights not to be responsible in case winners are denied entry and will not refund travelling fees, withholding tax or VAT.
- 1.5.8 The ticket cannot be endorsed or transferred.
- 1.5.9 The ticket cannot be exchanged, re-routed, or refunded for cash or any services.
- 1.6 The Contest is not open to employees of the Organiser, participating retailers, sponsors, advertising and sales promotion agencies and members of their immediate families.



1.7 Multiple entries are allowed. There is no limit to the number of entries that each participant can submit. An original receipt of THB 1,500.00 or more for each entry must be presented upon prize redemption.

2. Duration

2.1 The Contest will run from 3-29 March 2015 and will be promoted in the participating Shopping is GREAT Britain retail stores, retail malls and online and social media channels of all the Shopping is GREAT Britain Contest participating organisations: Organisers, Partners, Retailers and Sponsors. All entries received after 23.59 hours (Thailand local time) on 29 March 2015 will not be considered.

3. Mechanics

- 3.1 To enter Participants must spend THB 1,500.00 or more in a single receipt in a participating store on British products only. Multiple entries are allowed. An original receipt of THB 1,500.00 or more for each entry must be presented upon prize redemption. The participant must fill out the entry form and complete the following slogan in 15 words or less: "I think British brands are GREAT because . . ." The completed entry form must then be dropped into the Prize Contest Box in the store.
- 3.2 A short list of runner-up winners will be chosen by the British retail brands participating in the Shopping is GREAT Britain Contest. There will be 370 winning entries. The winners will be selected by the identified judging panel, and their decision is final and non-negotiable.
- 3.3 The Grand Prize winners and the Supplementary Prize winners will be chosen from the short list by a panel of Judges from the Organiser.
- 3.4 The decisions of all the judges/judging panels are final.

4. Prizes

- 4.1 The Grand Prize:
- A shopping trip to London that includes; 2 Return British Airways 'World Traveller' Economy Bangkok-London flights, 1 room for 2 persons, 3 nights stay at Lancaster London hotel (value THB 239,970.00)



- £350 shopping vouchers with personal shopper service from Topshop and Topman.
- 1 x 12 months complimentary membership from Fitness First (value THB 32,400.00)*
 - 4.2 There are 369 Supplementary Prizes:
- 1 x 12 months complimentary membership from Fitness First (value THB 32,400.00)*
- 1 x Luxury Gift Set from **Jo Malone** London (value THB 16,000.00)
- 1 x Shaving Set (Razor, Brush and Stand) from **Truefitt and Hill** (value THB 18,000.00)
- 5 x Leather Bag: Genuine Deer Skin from **DAKS** (value THB 15,000.00 each, THB 75,000.00 in total)
- 1 x G768-50-410 Luala vase, blue 50cm. From LSA (value THB 13,900.00)
- 1 x Urbanite Stroller Slate from **mothercare** (value THB 11,130.00)
- 2 x Luxury Razor (Fusion) from Truefitt and Hill (value THB 11,000.00 each, THB 22,000.00 in total)
- 3 x THB 10,000.00 gift vouchers from Fred Perry (value THB 30,000.00 in total)
- 1 x Clarks shoes for men (value THB 8,500.00)
- 1 x Clarks shoes for women (value THB 8,500.00)
- 10 x 3 months complimentary membership from **Fitness First** (value THB 8,100.00 each, THB 81,000.00 in total)*
- 2 x THB 7,500.00 gift vouchers from **Kurt Geiger** (value THB 15,000.00 in total)
- 3 x The Finest Love gift set from **Manuka Doctor** (value THB 6,950.00 each, THB 20,850.00 in total)
- 1 x Handbag from Paul's Boutique (value THB 6,290.00)
- 1 x Twist and Bounce Entertainer from mothercare (value THB 5,990.00)
- 3 x Ultimate Luxuries Set from **Crabtree & Evelyn** (value THB 5,870.00 each, THB 17,610.00 in total)
- 1 x Handbag from Paul's Boutique (value THB 5,290.00)
- 3 x Shirt set from John Langford (value THB 5,050.00 each, THB 15,150.00 in total)
- 3 x THB 5,000.00 gift vouchers from Cullinan (value THB 15,000.00 in total)
- 3 x THB 5,000.00 gift vouchers from **Karen Millen** (value THB 15,000.00 in total)
- 1 x THB 5,000.00 gift vouchers from Marks & Spencer (value THB 5,000.00)
- 5 x Duke's Treat Gift Card from **Truefitt and Hill** (value THB 4,550.00 each, THB 22,750.00 in total)
- 5 x Earl's Treat Gift Card from **Truefitt and Hill** (value THB 4,000.00 each, THB 20,000.00 in total)
- 4 x Medium leather trim tote clouds from Cath Kidston (value THB 3,980.00 each, THB 15,920.00 in total)



- 10 x Cologne from Truefitt and Hill (value THB 3,950.00 each, THB 39,500.00 in total)
- 1 x Handbag from Paul's Boutique (value THB 3,490.00)
- 1 x THB 3,000.00 gift vouchers from Marks & Spencer (value THB 3,000.00)
- 2 x TOMOKO sandal from F-Troupe (value THB 2,500.00 each, THB 5,000.00 in total)
- 6 x THB 2,500.00 gift vouchers from Lee Cooper (value THB 15,000.00 in total)
- 3 x K106 Plastic Shoe from F-Troupe (value THB 2,100.00 each, THB 6,300.00 in total)
- 20 x Gift Set from Boots (value THB 2,000.00 each, THB 40,000.00 in total)
- 1 x G708-26-335 Mallika vase, clear 26 cm. from **LSA** (value THB 1,990.00)
- 20 x Brow transformation vouchers from **Illamasqua** (value THB 1,500.00 each, THB 30,000.00 in total)
- 10 x Makeup Vouchers from **The Body Shop** (value THB 1,500.00 each, THB 15,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from Accessorize (value THB 15,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from **Burton Menswear London** (value THB 15,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from **Butterfly Twists** for shopping at Shoe Cafe in Central Ladprao (value THB 15,000.00 in total)
- 30 x THB 1,000.00 gift vouchers from Clarks (value THB 30,000.00 in total)
- 14 x THB 1,000.00 gift vouchers from **Dorothy Perkins** (value THB 14,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from **FitFlop** for shopping at FitFlop store in Central World (value THB 15,000.00 in total)
- 9 x THB 1,000.00 gift vouchers from Marks & Spencer (value THB 9,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from Miss Selfridge (value THB 15,000.00 in total)
- 20 x THB 1,000.00 gift vouchers from Scholl (value THB 20,000.00 in total)
- 15 x THB 1,000.00 gift vouchers from Wallis (value THB 15,000.00 in total)
- 20 x Gift Set from Heathcote & Ivory (value THB 890.00 each, THB 17,800.00 in total)
- 10 x THB 500.00 gift vouchers from F-Troupe (value THB 5,000.00 in total)
- 25 x THB 500.00 gift vouchers from **Harrods** (value THB 12,500.00 in total)
- 15 x Mini hydra veil sampling from Illamasqua (value THB 350.00 each, THB 5,250.00 in total)
 - * The complimentary membership vouchers from **Fitness First** valid three (3) months from the day winners receive their prize
 - If the winners are members of Fitness First already, free membership period will be extended into their contract.
 - The winners of **Fitness First** complimentary membership must be 15 years old (and above) of legal age as of 3 March 2015.



4.3 All qualified participants will be entitled to experience 3 days pass to Fitness First of their choice, value THB 1,000.00 each. We reserve rights for participants who complete the contest voucher only. Terms and conditions for redeeming the privilege experience are as below;

4.3.1 Qualified participants will receive a SMS alert to acknowledge their privilege from Fitness First

4.3.2 Qualified participants must present the notified SMS from Fitness First to a reception at participating clubs

4.3.3 The 3 days pass valid for three days after first registration at Fitness First Club

4.3.4 The 3 days pass valid only at the same club (location) of participants' first registration

4.3.5 Qualified participants must be 15 years old (and above) of legal age as of 3 March 2015

4.3.6 Privilege can be transferred if the contestants are already a member of Fitness First Club

5. Judging

5.1 All entries with all the required information must be entered into the Prize Contest box in a Shopping is GREAT Britain participating stores by close of business on 29 March 2015 (here in after referred to as the "cut-off time"). Any entry received after the cut-off time will automatically be disqualified.

5.2 Lucky draw date: 27 April 2015

5.3 Participants who breach any of the terms and conditions will be disqualified.

5.4 Entries with incomplete details will not be eligible to win.

6. Notification of Winners

6.1 Participants are required to provide their proof of identity as stated on the contest entry form for verification and contacting purposes. Proof of purchase must be submitted in the form of an original receipt of THB 1,500.00 or more for each entry upon prize redemption.



- 6.2 The prize winners will be notified by phone and/or email and must provide a valid original receipt upon prize redemption.
- 6.3 Prize winners will be required to provide a written acknowledgement of acceptance of all these Terms and Conditions prior to receiving their prize, as well as a written acceptance of the prize itself.
- 6.4 Winners are required to respond within 30 days from notification date in order to redeem prizes.
- 6.5 In the event the Organiser cannot for whatever reason contact a winner(s), the Organiser reserves the right to select another winner.
- 6.6 Winners shall shoulder the 5% Withholding tax for the prizes exceeding THB 1,000 in value.
- 6.7 Winners shall shoulder the 7% VAT of the total prize value.
- 6.8 All income and other taxes related to the acceptance and/or use of the prize, if any, are a winner's sole responsibility. The British Embassy assumes no responsibility for a prize winner's tax obligations.

7. Rights of the Organiser

- 7.1 Subject to applicable laws and regulations, the Organiser may at their absolute discretion modify, annul or rescind these Terms & Conditions at any time without prior notice. The changes to terms and conditions of the Contest will be updated on the British High Commission of Bangkok's Facebook page (www.facebook.com/ukinthailand).
- 7.2 If for any reason any aspect of the Contest is not capable of running as planned, including by reasons of infection by computer virus, network failure, bugs, tampering, unauthorized intervention, fraud, technical failures or any causes beyond the control of the Organiser which corrupts or affects the administration, security, fairness, integrity or proper conduct of the Contest, the Organiser reserves the right at their sole discretion to cancel, terminate, modify or suspend the Contest, or invalidate any affected entries.
- 7.3 At any time during the contest, the organisers reserve the right to disqualify incomplete or late entries automatically or when authenticity of an entry is questionable. These include



entries submitted with invalid or incorrect information. The organisers reserve the right to reject any entry at its discretion, and will not be obligated to provide reasons for the rejection of entries.

- 7.4 The Organisers will not be responsible for loss or damage of entries before or during the delivery of entries for the Contest.
- 7.5 The Organiser may at their sole discretion, disqualify any entries and prohibit further participation in the Contest by any person who tampers with the entry process of with the operation of the Contest or who acts in violation of these Terms & Conditions or in a disruptive manner or for any other reason.
- 7.6 The Organiser reserves the right to substitute any prize of similar value without prior notice.
- 7.7 The Organiser reserves the right to select an alternative winner in the event the Organiser has reasonable grounds for believing that the selected winners has contravened any part of these Terms & Conditions.
- 7.8 Participants may opt out of receiving exclusive email updates from the Shopping is GREAT Britain contest organisers and partners by ticking the box on the entry form. To ensure privacy and confidentiality, personal information provided on the entry form will not be shared with any external entity.
- 7.9 All participants hereby warrant that all statements and personal details given are true, correct, accurate and complete and that the participants have read and understood all these Terms & Conditions and agree to be bound by them and the decisions of the Organiser.
- 7.10 Acceptance of a prize constitutes permission for the Organiser, its partners, sponsors and participating Shopping is GREAT Britain retail stores and its agencies to use the winners' names and/or photographs for purposes of publicity, advertising and/or trade without further compensation or notice.
- 7.11 The Organiser and participating GREAT contest retailers decisions on any matters concerning the Contest is final with respect to any aspect of the Contest, including the determination of the winner(s). No correspondence or appeals will be entertained.



7.12 The Organiser is not responsible for any harm or injury of the participants whether physical, emotional or mental in nature that may occasion from their participation in the Contest.

7.13 The Organiser are not responsible or liable for any error, omission, interruption, deletion, defect, delay in operation or transmission, communication line failure, theft or destruction, unauthorized access to, or alteration of user or member communications, or any problems or technical malfunction of any telephone network or lines, computer online systems, servers or providers, computer equipment, software, failure of email or players on account of technical problems or traffic congestion on the Internet and/or website.

7.14 The Organiser are not responsible or liable for late, lost, incomplete, incorrectly submitted, delayed, corrupted or misdirected entries due to unforeseeable circumstances highlighted in the preceding sub-clause.

8. All prizes inclusive of air tickets, accommodation and shopping vouchers are non-exchangeable, non-transferrable and non-saleable, except stated on its detail.

List of Participating Store Locations:

Accessorize

- 1. Central World,
- 2. Central Chidlom,
- 3. Silom Complex,
- 4. Central Plaza Grand Rama 9,
- 5. Central Festival Pattaya Beach,
- 6. Central Plaza Udon Thani,
- 7. Central Festival Chaingmai,
- 8. Central Festival Hadyai,
- 9. Central Festival Phuket,
- 10. Central Plaza Ubon Ratchathani,

Butterfly Twist

- 1. Central Plaza Ladprao,
- 2. Central Plaza Bangna,
- 3. Central Plaza Pinklao,
- 4. Central Plaza Rama 2,



- 5. Central Plaza Chaengwattana,
- 6. Central Plaza Salaya,
- 7. Central Festival Pattaya Beach,
- 8. Zen,

Burton Menswear London

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Festival ChaingMai,
- 5. Central Festival Hadyai

Cath Kidston

- 1. Central World,
- 2. Central Chidlom
- 3. Central Rama 9
- 4. Central Bangna
- 5. Central Rama2
- 6. Central Chiangmai
- 7. Central Hatyai
- 8. Central Udonthani
- 9. Central Salaya
- 10. Central Pattaya Beach
- 11. Central Pinklao
- 12. Central Ladprao
- 13. Central Rama 3
- 14. Central Changwattana
- 15. Central Phuket
- 16. Central Silom Complex
- 17. Zen (Opening mid of Mar 15)

Clarks

- 1. Central World,
- 2. Central Plaza Chaengwattana,
- 3. Central Plaza Chiangmai Airport,
- 4. Central Festival Chiangmai,
- 5. Central Plaza Udon Thani,
- 6. Central Festival Pattaya Beach,
- 7. Central Festival Hadyai,



- 8. Zen,
- 9. Central Chidlom
- 10. Central Plaza Ladprao,
- 11. Central Plaza Bangna,
- 12. Central Plaza Pinklao,
- 13. Central Plaza Rama 2,
- 14. Central Plaza Rama 3,
- 15. Central Plaza Rama 2,
- 16. Central Plaza Rama 3,
- 17. Silom Complex,
- 18. Central Plaza Ramindra,
- 19. Future Park Rangsit,
- 20. Central Kad Suan Kaew
- 21. Central Plaza Hadyai,
- 22. Central Plaza Samui

Crabtree & Evelyn

- 1. Central World,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Grand Rama 9,

Cullinan

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,
- 5. Central Plaza Rama 2,
- 6. Central Plaza Rama 3,
- 7. Central Plaza Chaengwattana,
- 8. Central Plaza Ramindra,
- 9. Future Park Rangsit,
- 10. Central Plaza Salaya,
- 11. Central Plaza Hadyai,
- 12. Central Festival Hadyai

DAKS

- 1. Central World,
- 2. Central Chidlom,
- 3. Central Plaza Bangna,



- 4. Zen,
- 5. Central Plaza Pinklao

Dorothy Perkins

- 1. Central World,
- 2. Central Chidlom,
- 3. Central Plaza Ladprao,
- 4. Central Plaza Bangna,
- 5. Central Plaza Pinklao,
- 6. Central Plaza Grand Rama 9,
- 7. Silom Complex,
- 8. Central Festival Pattaya Beach,
- 9. Central Plaza Chaingmai Airport,
- 10. Central Festival Chaingmai,
- 11. Central Festival Phuket,
- 12. Central Plaza Udon Thani,
- 13. Central Festival Hadyai

F-Troupe

- 1. Central Chidlom,
- 2. Central Plaza Ladprao

FitFlop

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,
- 5. Central Plaza Rama 2,
- 6. Central Plaza Rama 3,
- 7. Silom Complex,
- 8. Central World,
- 9. Central Plaza Chaengwattana,
- 10. Central Plaza Ramindra,
- 11. Future Park Rangsit,
- 12. Central Plaza Salaya,
- 13. Central Kad Suan Kaew,
- 14. Central Plaza Hadyai,
- 15. Central Festival Hadyai,
- 16. Central Festival Phuket,



- 17. Central Festival Pattaya Beach,
- 18. Central Festival Chiangmai,
- 19. Zen
- 20. Central Plaza Samui

Fred Perry

- 1. Central World,
- 2. Central Embassy,
- 3. Central Chidlom,
- 4. Central Plaza Ladprao,
- 5. Central Festival Chiangmai

Harrods

1. Central Embassy

Heathcote & ivory

1. Central Plaza Ladprao

Illamasqua

- 1. Central World,
- 2. Central Plaza Ladprao,
- 3. Central Chidlom,
- 4. Central Plaza Bangna,
- 5. Central Plaza Pinklao,
- 6. Central Plaza Chaengwattana,
- 7. Central Plaza Rama 2,
- 8. Central Plaza Salaya,
- 9. Zen,
- 10. Central Festival Hadyai,
- 11. Central Festival Chiangmai

Jo Malone

1. Central Chidlom

John Langford

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,



- 5. Central Plaza Rama 2,
- 6. Central Plaza Rama 3,
- 7. Silom Complex,
- 8. Central Plaza Chaengwattana,
- 9. Central Plaza Ramindra,
- 10. Future Park Rangsit,
- 11. Central Plaza Salaya,
- 12. Central Kad Suan Kaew,
- 13. Central Plaza Hadyai,
- 14. Central Festival Hadyai,
- 15. Central Festival Phuket,
- 16. Central Festival Pattaya Beach,
- 17. Central Festival Chiangmai,
- 18. Zen

Karen Millen

- 1. Central Chidlom,
- 2. ZEN

Kurt Geiger

- 1. Central World,
- 2. Central Embassy,
- 3. Central Chidlom,
- 4. Central Plaza Ladprao,
- 5. Central Plaza Bangna

Lee Cooper

- 1. Central Plaza Bangna,
- 2. Central Plaza Rama 2 (Department Store)
- 3. Central Plaza Rama 2 (Plaza)
- 4. Central Plaza Rama 3
- 5. Central Plaza Chaengwattana,
- 6. Future Park Rangsit,
- 7. Central Plaza Salaya,
- 8. Central Festival Phuket,
- 9. Central Festival Pattaya Beach,
- 10. Central Kad Suan Kaew,
- 11. Central Festival Chiangmai,
- 12. Central Plaza Hadyai,



- 13. Central Festival Hadyai,
- 14. Zen

LSA

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,
- 5. Central Festival Pattaya Beach,
- 6. Zen

Manuka Doctor

1. Central Chidlom

Marks & Spencer

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,
- 5. Central World,
- 6. Central Plaza Chaengwattana,
- 7. Central Plaza Rama 2,
- 8. Central Plaza Rama 3,
- 9. Central Plaza Grand Rama 9,
- 10. Silom Complex,
- 11. Central Festival Phuket,
- 12. Central Festival Hadyai,
- 13. Central Festival Chiangmai,
- 14. Central Festival Pattaya Beach

Miss Selfridge

- 1. Central World,
- 2. Central Chidlom,
- 3. Central Plaza Ladprao,
- 4. Central Plaza Bangna,
- 5. Central Plaza Grand Rama 9,
- 6. Central Festival Pattaya Beach,
- 7. Central Festive Chiangmai,
- 8. Central Festival Phuket



Mothercare

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna

Paul's Boutique

- 1. Central Plaza Ladprao,
- 2. Central Plaza Salaya

Scholl

- 1. Central Chidlom,
- 2. Central Plaza Ladprao,
- 3. Central Plaza Bangna,
- 4. Central Plaza Pinklao,
- 5. Central Plaza Rama 2,
- 6. Central Plaza Rama 3,
- 7. Silom Complex,
- 8. Central Plaza Chaengwattana,
- 9. Central Plaza Ramindra,
- 10. Future Park Rangsit,
- 11. Central Plaza Salaya,
- 12. Central Kad Suan Kaew,
- 13. Central Plaza Hadyai,
- 14. Central Festival Hadyai,
- 15. Central Festival Phuket,
- 16. Central Festival Pattaya Beach,
- 17. Central Festival Chiangmai,
- 18. Zen

The Body Shop

- 1. Central World,
- 2. Central Chidlom

Topshop

- 1. Central World,
- 2. Central Chidlom,
- 3. Central Plaza Ladprao,
- 4. Central Plaza Bangna,
- 5. Central Festival Pattaya Beach,



6. Central Festival Chiangmai

Topman

- 1. Central World,
- 2. Central Chidlom,
- 3. Central Plaza Ladprao,
- 4. Central Plaza Bangna,
- 5. Central Festival Pattaya Beach,
- 6. Central Festival Chiangmai

Truefitt & Hill

1. Central Embassy

Wallis

- 1. Central World,
- 2. Central Plaza Ubon Ratchathani,
- 3. Central Festival Hadyai
- 4. Central Festival Chiangmai

Boots Retail (Thailand)

- 1. Central World 1 (3rd Fl)
- 2. Central World 2 (4th FI)
- 3. Central Embassy
- 4. Amarin Plaza
- 5. Mercury Ville
- 6. Park Venture
- 7. All Seasons
- 8. Central Plaza Ladprao
- 9. Central Plaza Pinklao
- 10. Central Plaza Bangna
- 11. Central Plaza Changwattana
- 12. Central Plaza Rama 2
- 13. Central Plaza Rama 3
- 14. Central Plaza Grand Rama 9
- 15. Central Plaza Ramindra
- 16. Central Plaza Rattanatibet
- 17. Central Plaza Salaya
- 18. Silom Complex
- 19. Central Festival Chiangmai



- 20. Central Plaza Chiangmai Airport,
- 21. Central Festival Pattaya Beach 1 (3rd Fl)
- 22. Central Festival Pattaya Beach 2 (G Fl)
- 23. Central Festival Phuket
- 24. Central Festival Hadyai

Fitness First

- 1. Platinum Landmark Plaza
- 2. Platinum Sathorn Square
- 3. Platinum Q House Lumpini
- 4. Platinum Siam Paragon
- 5. Platinum Sukhumvit 39
- 6. Central Plaza Bangna
- 7. Central Plaza Chaengwattana
- 8. Central Plaza Chonburi
- 9. Central Plaza Grand Rama 9
- 10. Central Plaza Khonkaen
- 11. Central Plaza Pinklao
- 12. Central Plaza Rama 3
- 13. Central Plaza Rattanathibet
- 14. Central Plaza Udon Thani
- 15. Terminal 21
- 16. Fashion Island Ramindra
- 17. Future Park Rangsit
- 18. Home Pro Petchkasem
- 19. Mega Bangna
- 20. Seacon Square
- 21. The Mall Tahpra
- 22. The Mall Bangkapi
- 23. The Mall Bangkhae
- 24. The Mall Korat
- 25. The Mall Ngamwongwan
- 26. The Crystal SB Ratchapruek

(New branch: open in February 2015)

27. AIA Capital Tower (New branch: open in March 2015)